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1.1 Jp = fg 2%t
#0122 (Wronskian) i7 71 38 2 %7 & 352 329 3 5 R
(1) »"-9y=0; 3,(x)=cosh(3x), ¥,(x)=sinh(3x)
2) J-"fly'ﬂ—?y:o-_ n)=x', yx)=x'lnx
X x-

@)y -3y’ +2y=0; y,(x)=¢*,y,(x)=e
12 Kfz™ 5= BF ¥ A A5
(1) y"—y'=20y=0 (2) V' 48y +16y=0 (3) »"+3V'+3v=0
(4). y"—6y'+9y=0 (5). y"+6y +25y=0 (6). y"+7y +12y=0

2. Z FREUAB RN A S AN (A fEEREE) o
(1) y"+2y' +5y=e* (2 y-2y+y=x-2
(3) -3y +2y=e"+4x+2 (4) »'+) =2y =sin2x

(5). y"-6y +9y=€*

3. D FFEE MM s D AN (F k) o

1) y"+3y=—12x"¢" (2) " -2x'+2y=2+Inx (x>0)
3) ¥y -3y +2y=2"+4x+2 4) y"+y —2y=sin2x
(5). y"-5y +6y=e" (6). y"—5y +6y=cos3x

(7). y'—dy +4y=e>
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(1). y' -5y +6y=e> (2). y" -4y +4y=¢*
(3). y' -2y +y=x-2 4). y"+7y' +12y=x*
(5). (D+1)(D-2)y = xe* (6). y” —9y =cos3x +sin3x
(7). y'—6Y +9y =2 +9x

5. Rfgmf-a > 4250 o

(1) °y"+20'-12y=0 (x>0) 2) Py —35x'+13y=0 (x>0)

(3) Fy+2Lrp+100y=0 (r>0) 4) (x+2)°3" =5(x+2)y"+9y=0 (x>-2)

(5) Xy =3xy +4y=0 ; y1)=4, y'(1)=7
6) XY +2xy-2y=6x ; y(1)=3 y@)=-7
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(@) (B TFHiEE—R)(—A5 %)

(1) f(r)=27*—3cosr 2) f=G-2) (3) F(r)=cos*2r
2, 0=r<l

(4) f(r)=sin2¢cost 5) f(H)=4-3, l1<t<2 6) fin=t"-2c-3
0, =2

(b) (d FF|4EE—RE)(— A S o)
1) f()=(+De 2) fi)=te —e™ (3) f()=e"cos3t

4) f(r)=e"(2cos3t +sin3r) (5) f(r)=e""(3—sint +cos?)
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(3). f©)=u(t-3) w.uoﬂﬁ_é
2 O<t<?2
(5). f(t):2u(t)—u(t—§j 6). f(t)=41 2<t<4
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(@ (FTFHNEE-—B)(—ASH)
4-3s 57
1) F)=5— (2) F(s)fm (3) F(s)= =y
25 -3 25 —8 3s
S)= 5 S5)= 5)=
4) F(s) TS 5 Fs) Y (6) F(s)= o 2)
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1 1
@M F(S)_ 2 8517 2) F(S)_s(erl)(sfl)
1 s +25+3
3) F(s)= 4) F(s)=
(3) £ (s—1)(s* —25+2) @ £ (s+2)(s—D(s+1)
6s+9 25 —1
5) F(s)= . 0) F
3 F 9 (6) F(s) PR
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(1). I02’3‘sin4tdt ). Ia{e’z‘sin4tdt
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dy )
1) — = y(0)=1
D Y . »(0)

(2) @+2y:55iur: ¥(0)=-
dt
3) y+y=-1 : »0)=1.50)=0
(4) y"+2y'+y:(6r+2)e_f ; y(0)=0,3'(0)=1

(B) v -2y=e" ; ¥0)=-1




